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® Daya has a brother Anil. Daya 1s the son of Chandra, Viman 1s the father of
Chandra. Anil, what does Vimana feel about the relationship?

® TYT <hl Teh HTS AT & | T, =571 1 T © ToH1H =51 o 19T &l fd 7 A1, o

T FIT AT ?

\‘ \ A. grandfather's brother
f‘llf‘ 3 0 ) o1 TS
K A B. Brother/sTs
C. Grandson/dTdT
D.None of these/i:lﬁ ﬁﬁ'ﬁc
ek
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® In a row of 20 students, R 1s 5th from the right and T 1s 4th from the left, how
many students are there between R and T?

® 2() BT shl Teh Ufth § R T8 TR H 59 TIH W 2 9T T 918 IR ¥ Y LW, R
ITHAH fhaT B2 2

A. 11

B.12

C.CND

D. None of these
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¢ Statement :

®* Some eyes are ears./HD 3G &M 2

® Some ears are lungs./$s bl FHS &l
* All lungs are hands./a¥T hHe T T.

® Conclusions :

® (I) Some hands are ears./ &I <[4 3

* (II) Some lungs are eyes./%HS HHS @ &
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* Select the option that 1s related to the third term 1n the same way as the second
term 1s related to the first term.

o 39 faehcq o1 == L ST 1O S © 3| ThR Haford @ SiF HU e gl e 9
Heiferd 2|

® Nepal : Kathmandu :: Sri Lanka : ?

® JUT : HISHIS :: HfieiehT : ? I A.Kabul
. ' ‘\ \ B.Dhaka |
3 0/ C. Colombo

|
D. Hanoi

N\
VA
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* Select the option that 1s related to the third term 1n the same way as the second
term 1s related to the first term.

* 3Y fofehed =T = T ST 16 U< § 6T TehI Heiferd @ S gl Ie T8t 74 |
Heiferd 2
* DKQV : GNTY :: HMPS : ?
T A.RPLS
0/:_ B.MGTD
@ C.KPSV
D.SNTH
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* In the following question, select the related number from the given alternatives.

o Taferitaa vy 1, fou o foenedt § 9 Gt g st === hifsE)
* 11:81:12:7

Y,

A. 105
B. 102
C. 106
D. 100
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* [f 'H' stands for 'x', 'J' stands for -, 'D' stands for '+' and 'Y' stands for '+', then
what will be the value of the following expression?

o Il H' R AA'x' B, T HT AT ' 8, 'D' R A '+ MY T A ' &,
fefeTiad SHsteR <hT |9 =T @117
®* 105J29H96 Y 16 D 84

A.108
B. 69
C.78
D. 15
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® Select the number from the given alternatives which can replace the question
mark (?) in the following series

o [QU T foshedl § € 36 H&AT 3l =3 i ST (IR @ett 3 9 g (?) i
AT S Eehal &

* 55,63, 2, 343, 855, 1855

o\ A 117
B. 127
C.223

D. 135
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® Select the number from the given alternatives which can replace the question
mark (?) in the following series

o [QU T foshedl § € 36 H&AT 3l =3 i ST (IR @ett 3 9 g (?) i
AT o Tehdl &

°1,3,7,15,31,63,7?

VO
i e .
\ ’

\! A. 143
o ) ; B. 126
N\ SPF C.127
D.131
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® Statement

* All computers are laptops./H¥T St AT &

* Some laptops are mobiles./$S AUCTT HISTSA &

® Conclusion

. . . A\ ¥
* Some computers are mobiles./Fe FL AT &

. . N . "
* Some mobiles are computers./FE TS F &

* Some mobiles are laptops./$ AISTEA <92 &
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® Statement

. . N "
* Some suitcases are pouches./$Hs Hoh¥ UI3H 3
®* Some bags are purses./$s STUH &
* All pouches are purses./a¥T I3 99 @

®* Conclusion

* Some suitcases are purses./$Hs Hc\dShH TH 8
® Some purses are bags./$® T o &
* All purses are pouches./@t 9% U3 g
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® Find the triangle.

BERERICEAISI

A. 18
B. 20
C.28
D.34



SSC CHSL (10+2) 2022

* Select the time which will show the correct mirror image of 4:40 1n a clock

* 3H TUI T I ShISTT ST Ueh Tl T 4:40 shl G2t 2907 SiT shl 29|

A.7:20
B. 8:20
C.7:10
D.2:30
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® If 1n a code language KINDLE 1s written as ELDNIK, then how will EXOTIC

be written? [SSC 2011]

* Fi< Teh < WIS H KINDLE %! ELDNIK @ ST, 9 EXOTIC i foh® T

o N
(AL STTHIT ?

A.EXIOTC
B. COXITE
C.CXOTIE
D.CITOXE
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* If EDITION i1s written as IDETNOI, then how will MEDICAL be written 1n

that code language? [SSC 2011]

* gi< EDITION i IDETNOI fefia ST, 1 361 %< 9IST § MEDICAL % foh® Toh

o N
(AL STTHIT ?

A.DEMILAC
B.LACIMED

C.DIEMCAL |

D.CADILEM
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® Shravan 1s the father of Anand and Ravali. Gauri 1s the mother of Kriti. Nipun
1s the son of Anand. Nipun 1s the only brother of Kriti. Gauri 1s the daughter-in-
law of Pavani. Pavani has only one daughter and one son. How 1s Nipun related
to Rawli's father?

® YU, STE I Tt ok fuet &1 T, et 6l AT 21 F9or, 3ATe 1 9 8+,
el T Tehcldl ATE 2l TR, et <l THare] &) Fal ol sharel Teh i ST Teh O 2
fArqur, Traredt o T | ford Tehr Heiferd 82

A.Brother
o\ B. Son

C. Son 1n law

D. Grandson



SSC CHSL (10+2) 2022

® Ajay starts from his office and drives 11 km towards North. Then he takes a
left turn, drives 3 km, takes a left turn and drives 5 km and reaches his home. In
which direction 1s he from his office?

* ST U AT H AT & LT @ ST IT T TR 11 TR ST3 hT 81 T
I ST HSAT &, 3 TohHT ST3 3T ©, SITE 7Sl & SIS TohwT ST8e 3hiel @ ST 370
S g1 o) I8 A wETad o fohd fomm & &2

A.North-East.
B. North-West
C. South-West
D. South-East
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* Babita 1s standing 1n a park facing north. Then, she turns 180° clockwise. After
that, she turns 90° anticlockwise. Then, she turns 45° anticlockwise. She finally
turns 90° anticlockwise. Which direction 1s he facing now?

* ST Teh UTeh H It o HHIE @S &l T, 918 180° SfurTerd Hed! 81 36eh oI1e, I8
90° FTHTE et =l TR, I8 45° AT Hed! 21 I8 37 H 90° JATHTE Hed! 2l I8
37 forer e o ST 22
N \ A.North-East.
% B. North-West
C. South-West
D. South-East
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® Shilpa weighs more than Anita but not as much as Roja. Anita weighs more
than Jeeva. Kanaga weighs more than Shilpa but less than Roja. Who has the

most weight?

37T 1 I AT 9 SATET © AAleR TSI ST A2 STAT T oSt SHaT 9 31T
21 FATT hT o R1eUT O Ak Sifer USTT 8 FF 2] T ST Il foheehT 2ldT 22

)

)

' '77‘1‘

\ A.RATTT
| B. UST

C. ferear
D. 37T




